HERIE, I fagd urwot Ut #l.
31321 Hay Hsel, boddl

T 39.03.20R0 = fig sEEeh stvar
IC-B

Sere R A | Ao |Rena | oma | wew | weis | Rem | @ | oeEdRd | deepll | @en
(R 93 % R 3% 7% 3% 25% | 3.5% 2% 2% 19% 13% 10% 25%
AR ud 2 1 0 0 0 0 0 0 0 0 0 1
#elelt 03 0 0 0 0 0 0 0 0 0 0 0 0
Rerd ug 2 1 0 0 0 0 0 0 0 0 0 1
3G 2 1 0 0 0 0 0 0 0 0 0 1
R R (Raa) Ao | 3o |Ronst | woia | weis | veis | P | oo | oaEdRl | deegpll | @en
900 % R 3% 7% 3% 25% | 3.5% 2% 2% 19% 13% 10% 25%
AR ud 18 2 1 1 0 1 0 0 4 1 1 7
#elelt 03 1 1 1 0 0 0 0 3 0 0 3
Rea a2 1 0 0 0 1 0 0 1 1 1 4
3EAW 1 0 0 0 1 0 0 1 1 1 4
oo B Ao | 3o |Ronst | woia | woiw | veis | Pow | oo | oaEdRl | deegpll | @en
(FIR) 93 % ot 13% 7% 3% 25% | 3.5% 2% 2% 19% 13% 10% 25%
FoR we 1 0 0 0 0 0 0 0 0 0 0 1
#Rclell ug 1 0 0 0 0 0 0 0 0 0 0 1
Raaug 0 0 0 0 0 0 0 0 0 0 0 0
3EAN 0 0 0 0 0 0 0 0 0 0 0 0
e Rt A | AR | Reusn | wwia | woid | vz | Rew | Hm | ouEeel | deepRl | @en
(i) 03 % =t 13% 7% 3% 25% | 35% 2% 2% 19% 13% 10% 25%
FHoR 1@ 14 2 1 1 0 0 1 0 2 0 0 7
#Rclell ug 13 2 1 0 0 0 1 0 2 0 0 7
Raaug 1 0 0 1 0 0 0 0 0 0 0 0
3EAN 1 0 0 1 0 0 0 0 0 0 0 0
I - A | AR | Reusn | swia | wois | vz | Rew | TAm | ouEeel | dewpRl | @en

13% 7% 3% 25% | 35% 2% 2% 19% 13% 10% 25%
FoR W 6 1 1 1 0 0 0 0 0 0 0 3
#Rclell ug 1 0 0 0 0 0 0 0 0 0 0 1
Raaug 5 1 1 1 0 0 0 0 0 0 0 2
3EAN 5 1 1 1 0 0 0 0 0 0 0 2
it e Ao | A | Rens | seiw | sois | seis | Rewm | sem | ol Fell
90 % = 13% 7% 3% 25% | 35% 2% 2% 19% 13% 10% 25%
FAoR w@ 11 1 1 0 0 1 0 0 2 0 0 6
#Rclell ug 11 1 1 0 0 1 0 0 2 0 0 6
Raaug 0 0 0 0 0 0 0 0 0 0 0
3EAN 0 0 0 0 0 0 0 0 0 0 0
s A2 g | S | A fonst | soid | woiw | wois | Row | o | ool | Sspit | @

13% 7% 3% 25% | 35% 2% 2% 19% 13% 10% 25%
FHoR w@ 0 0 0 0 0 0 0 0 0 0 0 0
Hciett U 0 0 0 0 0 0 0 0 0 0 0 0
Rera a2 0 0 0 0 0 0 0 0 0 0 0 0
3N 0 0 0 0 0 0 0 0 0 0 0 0




FEEwOEH Ao | 3o |Ronst | woia | wois | veis | P | oo | owEdRll | deegpll | @en
900 % R 3% 7% 3% 25% | 3.5% 2% 2% 19% 13% 10% 25%
AR ud 0 0 0 0 0 0 0 0 0 0 0 0
SRt 12 0 0 0 0 0 0 0 0 0 0 0 0
Raaug 0 0 0 0 0 0 0 0 0 0 0 0
3EAN 0 0 0 0 0 0 0 0 0 0 0 0
-3
R | 3o | 3o | Boust | soia | wwie | wwis | Tew | o | weddell | dssplt | g
st Avit-8 3t 13% 7% 3% 25% | 3.5% 2% 2% 19% 13% 10% 25%
(ailes) I | 1% 9% 3% 25% | 3.5% 2% 2% 19% 13% 10% 25%
UeER | 8% 22% 3% 25% | 3.5% 2% 2% 9% 13% 10% 25%
33 Aa g, Rew,
HigU
FHoR 1@ 133 17 9 4 3 5 3 3 25 10 8 46
#Rclell ug 53 8 1 0 3 3 0 1 19 0 0 18
Raaug 80 9 8 4 0 2 3 2 6 10 8 28
3EAN 80 9 8 4 0 2 3 2 6 10 8 28
TR | e | e | Rens | sma | swiw | sz | Rem | e | oaddiRh | feopl | gem |
ot Soft-u 3t 13% 7% 3% 25% | 3.5% 2% 2% 19% 13% 10% 25%
(aistis) I | 11% 9% 3% 25% | 3.5% 2% 2% 19% 13% 10% 25%
qeER | 8% 22% 3% 25% | 3.5% 2% 2% 9% 13% 10% 25%
33 Aa g, Rew,
hoadl
FAoR w@ 94 12 7 3 2 3 2 2 18 7 5 33
#Rclell ug 38 4 6 1 1 1 1 0 11 0 0 13
Raaug 56 8 1 2 1 2 1 2 7 7 5 20
3EAN 56 8 1 2 1 2 1 2 7 7 5 20
TR | 3ol | o | Roust | soia | weiw | weis | Bew | o | weddedl | Ssseplt | g
ot Avit-g 3t 13% 7% 3% 25% | 3.5% 2% 2% 19% 13% 10% 25%
(aisties) IWE | 11% 9% 3% 25% | 3.5% 2% 2% 19% 13% 10% 25%
R | 8% 22% 3% 25% | 3.5% 2% 2% 9% 13% 10% 25%
800 DY, WD,
e, B
AR ud 46 6 3 1 1 2 1 1 9 3 2 17
#elett U3 23 4 7 2 2 1 0 0 3 0 0 4
Rerd ug 23 2 -4 -1 -1 1 1 1 6 3 2 13
3G 23 2 -4 -1 -1 1 1 1 6 3 2 13
TR | e | e | Rens | sma | swim | sz | Rem | e | oaddRh | feop | gem |
ot Soft-g 3t 13% 7% 3% 25% | 3.5% 2% 2% 19% 13% 10% 25%
(aistis) I | 1% 9% 3% 25% | 3.5% 2% 2% 19% 13% 10% 25%
UeER | 8% 22% 3% 25% | 3.5% 2% 2% 9% 13% 10% 25%
331 Aa g, Remw,
A
FHoR 1@ 130 10 29 4 3 4 3 3 12 11 8 43
#Rclell ug 47 4 16 1 1 2 1 2 8 0 0 12
Raaug 83 6 13 3 2 2 2 1 4 11 8 31
3EAN 83 6 13 3 2 2 2 1 4 11 8 31




31331 Aag e, Tosdl (THHA)

TR | e | e | Rens | sma | swim | sz | Rem | e | oaddiRh | feopl | gem |

ot Soft-g 3m 13% 7% 3% 25% | 3.5% 2% 2% 19% 13% 10% 25%

(GEc)) IO | 1% 9% 3% 25% | 3.5% 2% 2% 19% 13% 10% 25%

UeER | 8% 22% 3% 25% | 3.5% 2% 2% 9% 13% 10% 25%

FoR we 403 45 48 12 9 14 9 9 64 31 23 139
#Rlell ug 161 20 30 4 7 7 2 3 41 0 0 47
Rea ug 242 25 18 8 2 7 7 6 23 31 23 92
3EAN 242 25 18 8 2 7 7 6 23 31 23 92

ot et - 8 ot | oo |fonst | wmiw | wmiw | wois | Rw | W | veEdRR | SeeRlt | ggen

(switsher) b 11% 9% 3% | 25% |3.5% | 2% 2% 19% 13% 10% 25%
AR ud 0 0 0 0 0 0 0 0 0 0 0 0
#elett 03 0 0 0 0 0 0 0 0 0 0 0 0
Rerd ug 0 0 0 0 0 0 0 0 0 0 0 0
3G 0 0 0 0 0 0 0 0 0 0 0 0

R Ao | 3o |Ronst | woia | woiw | veis | P | oo | oaEdRl | deegpll | @en

900 % R 3% 7% 3% 25% | 3.5% 2% 2% 19% 13% 10% 25%
AR ud 0 0 0 0 0 0 0 0 0 0 0 0
SRl 12 1 0 0 0 0 0 0 0 0 0 0 1
Raaug -1 0 0 0 0 0 0 0 0 0 0 -1
3EAN -1 0 0 0 0 0 0 0 0 0 0 -1

NN Ao | 3o |Ronst | woia | weiw | veis | P | oo | oaEdRll | deegpll | @en

b 13% 7% 3% 25% | 3.5% 2% 2% 19% 13% 10% 25%
FoR wd 0 0 0 0 0 0 0 0 0 0 0
#Relelt 03 0 0 0 0 0 0 0 0 0 0 0 0
Rerd ug 0 0 0 0 0 0 0 0 0 0 0 0
3G 0 0 0 0 0 0 0 0 0 0 0 0




HERIE, I fagd urwot Ut #l.

3131 AaY FHsel, dbosdl
TRttt f8.39.03.020 @t fiig eEet stwart

IC-D

- e | . |Renst | sma | awiw | smis | Rem | gen |
(Raa) 3% | 1% | 3% | 25% | 35% | 2% | 2% | 67%
HsR ud 11 2 1 1 0 0 0 0 7
lell we 4 1 0 0 0 0 0 0 3
Raa ue 7 1 1 1 0 0 0 0 4
3TN 7 1 1 1 0 0 0 0 4
eaeer Rl e | . | Renst | sma | amim | smis | Rem | gen |
() 3% | 7% | 3% |2.50%|3.50% | 2% | 2% | 61%
FoR wd 6 1 1 0 0 0 0 0 4
SRt 12 5 0 1 0 0 0 0 0 4
Raa w2 1 1 0 0 0 0 0 0 0
ERa 1 1 0 0 0 0 0 0 0
o Bl s | . |Rens | wwa | wwm | vz | Rem | gew |
(Fw=i) (10%) = 13% 7% 3% (2.50% 3.50% | 2% 2% 67 %
FoR wd 2 1 0 0 0 0 0 0 1
SRl 12 0 0 0 0 0 0 0 0 0
Raaug 2 1 0 0 0 0 0 0 1
3R 2 1 0 0 0 0 0 0 1
. S | AA. | Rens | sma | wwiw | wwis | Remw | Fgen
FEIRS T e | 7% | 3% |2.50% 3.50%| 2% | 2% | 67%
FoR W 71 9 5 2 2 3 1 1 48
#ctell U 4 1 1 0 1 0 0 0 1
Reaaa 67 8 4 2 1 3 1 1 47
3R 67 8 4 2 1 3 1 1 47
ot Aol 2 A | AA. |Reusi | smia | weis | sz | Rewm | e
900% o 13% 7% 3% (2.50% |3.50% | 2% 2% 67 %
Fop ® 9 1 1 0 0 1 0 0 6
SRt 12 2 0 1 0 0 1 0 0 0
Raa a2 7 1 0 0 0 0 0 0 6
3EAN 7 1 0 0 0 0 0 0 6
. e | 3o |feust | weia | swie | teis | fewm
o aek -2 b 13% 7% 3% [2.50% 3.50% | 2% 2% ;%a‘;;
FoR we 14 2 1 1 0 1 0 (1] 9
#ctell U 6 2 1 1 0 1 0 0 1
Rea a2 8 0 0 0 0 0 0 0 ]
3EAW 8 0 0 0 0 0 0 0 8
S A | A | Rensn | sea | swd | oeis | R
o 13% | 7% 3% 12.50% |3.50% | 2% 2% 6%6“%
FoR we 19 2 1 1 1 1 0 0 13
SRt U2 14 2 0 1 1 0 0 0 10
Raaug 5 0 1 0 0 1 0 0 3
3EAN 5 0 1 0 0 1 0 0 3
ARG T Ao | Ao |Renan | soa | smis | s | Rew
(90%) i 13% 7% 3% [2.50% 3.50% | 2% 2% 67 %
FoR we 94 12 6 3 2 4 2 2 63
#Retell U 23 4 3 2 4 0 0 2 8
Reaaa? 71 8 3 1 -2 4 2 0 55
3EAW 71 8 3 1 -2 4 2 0 55




R A | AA. |Reusi | swia | weis | sz | Rewm | e
o 13% | 7% 3% 12.50% |3.50% | 2% 2% | 67%
FHoR we 1 0 0 0 0 0 0 0 1
SRl 12 0 0 0 0 0 0 0 0 0
Raaug 1 0 0 0 0 0 0 0 1
3EAN 1 0 0 0 0 0 0 0 1
aaft @ | 3| A fona | sma | wwiw | swwis | few | Fgen
13% 7% 3% 12.50% |3.50% | 2% 2% 67%
FoR we 0 0 0 0 0 0 0 0 0
Heletlt 0 2 0 0 0 0 0 0 0 2
Rea a2 -2 0 0 0 0 0 0 0 -2
3EAW -2 0 0 0 0 0 0 0 -2




